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de: () FTFNEL G 5 T G FF G0 IT Fo 97 T
797 Sfar &

Attempt any four questions from Question

Numbers 1 to 5. Rest are compulsory.

(i) HEF FI97 & 3% IGH @7 [T TT &

Marks are indicated against each question.

1. 3rd A B H qUE B 4

Explain 3rd normal form.

2. A HEHRIT & HTEC H I B 4

Explain the concept of video conferencing.

3. Fr=fifad SQL M & aviF & : 4
AVG, COUNT, MAX, MIN.
Explain the following SQL functions :

AVG, COUNT, MAX, MIN.

4307/(Set : A) P.T.O.



(4) 4307/(Set : A)

4, FG FM T I A AT R oEr ¥ ? SEE
aﬁml 4

What is a class ? How it is declared ? Give

example.
5. % & % dCEAAl I & & Q| A B e
T HI A BT 4

g AWd : First name, Last name, Runs made.

AT R
(i) SrefEs aeg &,
(ii) S9N TT I AUST FHI,

(iii) STEAA & G S

Define a class to represent batsmen in a team.
Include following member :

Data Members : First name, Last name, Runs
made.

Member functions :
(i) To assign initial values,
(i) To update runs made,

(iii) To display batsman information.

4307/(Set : A)



10.

11.

12,

13.

(5) 4307/(Set : A)

. POP &I TwNveH R 2

Give algorithm of POP.

. TR TR W HF-§ R T o gq 2 ? 2

What operations can be performed on data
structure ?

. i 3 Rere &t aRwm Aoy 2

Define field and record.

SDLC & |4 &l S&xd &1 8 ? 2
What is the need of survey in SDLC ?

T R&E 1 & b al% 1 § ? 2
What are various ways of recording facts ?
HTML U & &FaR e 2
Give structure of HTML page.

HTML & & ? 1

What is HTML ?
el 491 § ? 1

What is a Marquee ?

4307/(Set : A) P.T.O.



(6) 4307/(Set : A)

14. IgMc Fl 9RHEm AR 1
Define Intranet.
15. @Y WGIH SRR F IR H71 & ? 1
What is the use of scope resolution operator ?
[ a5 9 ]

[ Objective Type Questions ]

16. (i) HTTP&H T &Y ....coevneee. gl 1

Full form of HTTPis ................ .
(i) FTP & T &Y ..oovreeeen, 2| 1
Full form of FTPiS ccecvvnvnnne.. .

(i) MR FaX T B oo & ¥ W e
ST E ’

Protected members of a class are ................

but private members are not.

(iv) T &, TET oo 3T I B B 1

In a queue, insertion takes place at

4307/(Set : A)



(7) 4307/(Set : A)
(v) T RQA9M 2NF ¥ B8R, 8R I9@ T wid- @l

USeE TEAd Bl W e I 1
A relation is in 2NF if every non-key
attribute is ... dependent on
primary key.

(vi) T RIIF # T 3% TEHFT ..o B
2 1
(a) <0« (b) el
(c) feili (d) T

The number of attributes in a relation is called

(a) Tuple (b) Cardinality
(c) Degree (d) Row

(V1) ereeeennnnn. T Jead B o % 0 X A 2 1
(a) LAN (b) MAN
() WAN (d) Bis T
................ are network spread over a city.
(a) LAN (b) MAN
() WAN (d) None

4307/(Set : A) P.T.O.



(8) 4307/(Set : A)

(viii) F HTML 3T ................ ¥ T 2 R 1
(@) ## (b) <>
(¢ ! (d) Hig &
All HTML tags are enclosed in ................ :
(@) ## (b) <>
() M (d) None

4307/(Set : A)
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° FYI G957 FH TFA [IGT JE@ 7 & Yoo, T H BHH
T [T
Before beginning to answer a question, its Serial

Number must be written.

o Fv-gikrmr # & 4 @l i1/ 91 T Big)

Don’t leave blank page/ pages in your answer-book.

o FUCYRTE F FHARFT g ¥ i TE Pl o
STASTHEAFE & [TE ST forer Fav 7 e
Except answer-book, no extra sheet will be given. Write

to the point and do not strike the written answer.

o GhHETf ST T To FIF-UH GT ST [r@)
Candidates must write their Roll Number on the

question paper.

o UF F97] & T @7 @ §d I8 GRET FV o [ FeT-0H
g7 a @& & YO % Iy 59 a5 § #HE A @
@B Tel [T ST
Before answering the question, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be

entertained after examination.

4307/(Set : B)



(3) 4307/(Set : B)

de: () FTFNEL G 5 T G FF G0 IT Fo 97 T
797 Sfar &

Attempt any four questions from Question

Numbers 1 to 5. Rest are compulsory.

(i) HEF FI97 & 3% IGH @7 [T TT &

Marks are indicated against each question.

1. B fSUSE #1287 2nd WA BT H U B4 4

What is functional dependency ? Explain 2nd

normal form.
2. FTP & U9 H1 4
Explain FTP.

3. TR died SELECT SQL #His & R % &
quie HI| 4

Explain with example various forms of SELECT

SQL command.

4307/(Set : B) P.T.O.



(4) 4307/(Set :
4. HEIFI T 5 ? 39 THR F I B

What is a constructor ? Explain its types.

5. T% F distance I9X A =1 anfea & ¢
1T AWK : IS, 341
T G
(i) 9,
(i) I A S,
(i) =g Bie FH=m
Create a class distance that includes :
Data Members : feet, inch.
Member Functions :
(i) To assign values,

(ii) To add values,

(iii) To print values.
6. WHA 2?36 TBR AT & 7

What is an array ? What are its types ?

4307/(Set : B)



7

10.

11

12,

(5) 4307/(Set : B)
.G Fg | fecliee &8 fear o @ ? 2

How deletion takes place in a queue ?

. SAE9 I e 4 g 7 2

What are the disadvantage of database ?

. ey oo @1 #d F@r B 7 2

What is the role of system analyst ?

SDLC %l 39cHIM &Sl & aviF &1 2

Explain implementation stage of SDLC.

T O & THE 1 ¢ ¢ [l @@ Ao & 2

What are attributes of image tag ? Explain any

two.

<OL> ST 41 8 ? 1

What is <OL> tag ?

4307/(Set : B) P.T.O.



(6) 4307/(Set : B)

13. HTML U9 # o &9 9090 e 8 7 1

How link is created in a HTML page ?

14. J<dHT P TSI H 2 7 1

What is the need of networking ?

15. RS F & ? 1
What is inheritance ?

[ a5 9 ]

[ Objective Type Questions ]

16. () ®F § T ARIT B .ooveennnnn FEd & 7 1

Insertion Operation in a stack is called

(i) DDL & T & ..oovevenene 2l 1

Full form of DDLiS .c.uvvvvvee..... .

(iii) BNF # W% M- Theqe 9Bad ‘Al W
................ S A 1

In 3NF, every non-key attribute is ................
dependent on primary key.

4307/(Set : B)



(7) 4307/(Set : B)
(iv) WAN &1 Q9 &7 ..o 2l 1

Full form of WAN iS ..ccovvvvnnnnnn .
(v) WWW & Q0 & ..o, 2l 1

Full form of WWW is ................ .

(vi) HTML & ................ T & 1
@ 6 (b) 5
) 4 d) 3
There are ................ number of headings in
HTML.
(@ 6 (b) 5
(© 4 (d 3

(vii) T g W SAAIHT TR q q9H & fou &
fopar T e L FHEAT &l 1
(2) ed (b) TR
(c)  fom (d) wiEE

A system designed to prevent unauthorized
access to a network is called ................ .

(@) Gateway (b) Router

(c) Bridge (d) Firewall

4307/(Set : B) P.T.O.



(8) 4307/(Set : B)

(VEE) CH+ v ERUEE | ERRER 1
() TH Y9
(b) sSfE &

(c) =M EHEM

(d) g e

C++ was developed by ................
(@) Charles Babbage

(b) Dennis Ritchie

(c) Bjarne Stroustrup

(d) None

4307/(Set : B)
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(2) 4307/(Set : C)

° FYI G957 FH TFA [0GT JE@ BT & Yoo, T H BHH
T [T
Before beginning to answer a question, its Serial

Number must be written.

o Fv-gikrmr # & 4 @l i1/ 91 T Big)

Don’t leave blank page/ pages in your answer-book.

o FUCYRTE F FHARFT g ¥ i TE Pl o
STASTHEAFE & [TE ST forer Fav 7 e
Except answer-book, no extra sheet will be given. Write

to the point and do not strike the written answer.

o GhHETf ST T To FIF-UH GT ST [r@)
Candidates must write their Roll Number on the

question paper.

o UF F97] & T @7 @ §d I8 GRET FV o [ FeT-0H
g7 a @& & YO % Iy 54 FE § #HE A @
@B Tel [T ST
Before answering the question, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be

entertained after examination.

4307/(Set : C)



(3) 4307/(Set : C)

de: () FTFNEL G 5 T G FF G IT Fo 97 T
797 Sfar &

Attempt any four questions from Question

Numbers 1 to 5. Rest are compulsory.

(i) HEF FI97 & 3% IGH @7 [T TT &

Marks are indicated against each question.

1. SEEg & g i ga% @y FJm g 7 4

Define database. What are its advantages ?

2. W & FAE & 9O B 4

Explain the concept of firewall.

3. g 3 AR fediie SQL wmie § Fm oraX & ? R
AR Sareer i 4

What is difference between drop table and delete
SQL command ? Give syntax and example.

4. Ui, UEdT R OREME oE J=X # a9 B4 4

Explain public, private and protected -class
members.

4307/(Set : C) P.T.O.



(4) 4307/(Set

5. U% F-& a9 e e i & e

1T AR : TS, TR, SHAR
TR GRM ¢

() oI I

(ii) TRET @ TOET B

(iii) GET TERT HAT (TR, AR, TRA)!

Create a class — room which includes :
Data Members : Length, Width, Height.

Member Functions :
(i) To assign initial values,

(ii) To calculate area,

:0)

(iii) To display information (length, width, area).

6. TFR AN W i qRwm gy
Define structure and array.

7. Biffeg g Am-Difafea swer ez #&n & ?

2

What are primitive and non-primitive data

types ?

4307/(Set : C)



(5) 4307/(Set : C)

8. SIS %l SaLTHA F1 & 2
What is the need of Normalization ?
9. =% dF AR ghe Rem AT ? 2
What is Black box and Unit testing ?
10. SDLC %l 3RS & #1 8 ? 2
What is investigation stage of SDLC ?
11. = &7 &t o & 2
<Body>, <Ul>
Define following tag :
<Body>, <Ul>
12. 37 7 8 ? 1
What are tags ?
13. <P> 3T F7 B ? 1
What is <P> tag ?
14. 3T FH GREMT T 1

Define Internet.

4307/(Set : C) P.T.O.



(6) 4307/(Set : C)
15. FO9 H R AT 1

Define class.

[ aEgfrs 557 ]

[ Objective Type Questions ]

16. (i) % HEFCL B AH ..o, % M % T 21

(iii) T B B ..o F Fed & 1

A record is also known as ................ .

(iv) LAN & Q1 8T .o z| 1

Full form of LANiS ccvvvvvn...... .

4307/(Set : C)



(7) 4307/(Set : C)
(v) HITP & T & ............... 2l 1

Full form of HTTPis ...ccceunnn.... .

(Vi) BF oo, e T oTeTRa R 1
(a) LIFO (b) FIFO
(c) LILO (d) i3 TE
Stack is based on ................ principle.
(a) LIFO (b) FIFO
() LILO (d) None

(vii) TH WWW TFAZE Bl ..o FEd &l 1

() &R (b) AW
(c) S TR (@ & T

A WWW client is called ................ .
(a) Server (b) Web page

(c) Web browser (d) None

4307/(Set : C) P.T.O.



(8) 4307/(Set : C)

(VL) v T & T HTML 397 # fofs siiey &
forT 2 B 1
(@) <li> (b) <I>
(c) <al> (d) <a>

................ tag is used for adding links to

HTML page.
(a) <li> (b) <I>
() <al> (d) <a>

4307/(Set : C)
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° FYI G957 FH TFA [0GT JE@ BT & Yoo, T H BHH
T [T
Before beginning to answer a question, its Serial

Number must be written.

o Fv-gikrmr # & 4 @l i1/ 91 T Big)

Don’t leave blank page/ pages in your answer-book.

o FUCYRTE F FHARFT g ¥ i TE Pl o
STASTHEAFE & [TE ST forer Fav 7 e
Except answer-book, no extra sheet will be given. Write

to the point and do not strike the written answer.

o GhHETf ST T To FIF-UH GT ST [r@)
Candidates must write their Roll Number on the

question paper.

o UF F97] & T @7 @ §d I8 GRET FV o [ FeT-0H
g7 a @& & YO % Iy 54 FE § #HE A @
@B Tel [T ST
Before answering the question, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be

entertained after examination.

4307/(Set : D)



(3) 4307/(Set : D)

de: () FTFNEL G 5 T G FF G IT Fo 97 T
797 Sfar &

Attempt any four questions from Question

Numbers 1 to 5. Rest are compulsory.

(i) HEF FI97 & 3% IGH @7 [T TT &

Marks are indicated against each question.

1. INF T 2 ? 399 399 & MRS &9 a1 A 2 ? 4

What is 1NF ? How a table is normalized in it ?

2. LAN 3K WAN & 9UF 4

Explain LAN and WAN.
3. Create Table SQL &HiE &I fedeg v e qifoT 14

Give syntax and example of Create Table SQL

command.

4. FRRIE & gq% Yo qied auH H 4

Explain inheritance with its types.

4307/(Set : D) P.T.O.



(4) 4307/(Set : D)

5. @6 W H §&d 91 T=) god & U C++ ¥ Hmm
mﬂl 4

Write a program in C++ to find out the largest
number in an array.

6. PUSH & TFIRYH i) 2

Give algorithm of PUSH.

7. T H 39N 4 AA T 7 2

How insertion takes place in a queue ?

8. SQLH fh=si 7 STeT <39 & aU &1 2

Explain any four data types in SQL.

9. TG SN i TRAT T 2

Define software engineering.

10. SDLC & T RS H7 quie Hil 2

Explain testing stage of SDLC.

4307/(Set : D)



11.

12,

13.

14,

15.

(5) 4307/(Set : D)

HTML ¥ faf= s @t foree &1 aoig &3

Explain various types of lists in HTML.

HTML & <Zaq & @971 8 7

What is title tag in HTML ?

Z-0d H ITANT FT B 7

What is the use of E-mail ?

HTML § ®Hc &9 g 9 & ?

How comments are added in HTML ?

he B 7 § 7

What is friend function ?

4307/(Set : D)

2

P.T.O.



(6) 4307/(Set : D)
[ a9 ]

[ Objective Type Questions ]

16. (i) TCP&H T9 &0 ................ 2l 1

Full form of TCPis ...ccccunen..... .

(i) URL S T &Y ..ooovvennns 2l 1

Full form of URLis .c.cvvve....... .

() ©vrerrreerennns H ot ¥ R Sead W W am
GRLT 1
A means the rules applicable to a
network
(iv) DML & T &Y ..o, z| 1

Full form of DML is ................ .

(v) T ST H Tqd P AGK TEDB oo BRI
zl 1

The number of tuples in a database is

called ................ )

4307/(Set : D)



(7) 4307/(Set : D)

(vi) 3TR fetmes ™ Tae B, a fewre fafifefd @
................ BRI 1

(a) WicRres (b) disTeh
(c) =T (d) FE &

If the derived class is struct, then default

visibility mode is ................ .

(a) Protected (b) Public
(c) Private (d) None

(vii) T% 1-D W &, W & TEA ..o BT Bl
(a) UB-LB +1 (b) LB
() UB+2 (d) I3 &

In 1 - D array size of array is ................ .

(a) UB-LB +1 (b) LB

() UB+2 (d) None

4307/(Set : D) P.T.O.



(8) 4307/(Set : D)

(VAEE) v, HTML &7 & YN THIC & 3eirb
F & [T B Bl 1
(@) <it> (b) <italic>
() <i> (d) 1§ &
................ HTML tag is used to make text
italic.
(@) <it> (b) <italic>
() <i> (d) None

4307/(Set : D)



